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Marking Scheme
Programming L anguage (630203)
The presented exam questions are organized to overcome course material, the exam contains 3 questions; all
guestions are compulsory requested to be answered. Thus, the student is permitted to answer any question out
of the existing onesin this section.

Marking Assgnments
The following scheme shows the marks assignments for each question. They show also the steps for which a
student can get marks along the related procedure he/she achieves.

Question 1This question is attributed with 6 marks if answered properly
The answer for this question as the following:

1)  isavdid char vaue.
a. -129 c. 128
b. ‘A d. 129
2) Supposethat alpha and beta are int variablesand alpha =5 and beta=10 . Afterthe
statement alpha *= beta; executes, .
a. alpha=5 c. alpha =50
b. alpha=10 d. alpha =50.0
3) What isthevalue of x after the following statements execute?
int x;
x=(5<=3&&'A<'F)?3:4
a. 2 c. 4
b. 3 d 5
4) Consider the following code.
int limit;
int counter = 0;
cin >> limit;
while (counter < limit)
{
cin >> entry;
triple = entry * 3;
cout << triple;
counter++;
}
cout << endl;
Thiscodeisan exampleof a(n) __ while loop.
a. flag-controlled C. EOF-controlled
b. counter-controlled d. sentinel-controlled
5) Which of thefollowing loops is guaranteed to execute at least once?
a. counter-controlled while loop c. do...while loop
b. forloop d. sentinel-controlled while loop
6) Supposej ,sum,andnumareint variables, andtheinputis26 34 61 4 -1 .What isthe output of the
code?
sum =0;
cin >> num;
for (intj=1;j<=4; j++)
sum = sum + num;
cin >> num;
}
cout << sum << endl| ;
a. 124 c. 126

b. 125 d. 127



Question 2This question is attributed with 4 marks if answered properly

The answer for this question as the following:

| C++ code output |
1) int x = 35;
inty = 45;
int z;
if x>vy)
Z=X+y 3545 10
else
Z=y—-X
cout << x<<""<<y<<""<<z << endl;
2) char lastlnitial = 'S";
switch (lastlnitial)
{case 'A"
cout << "section 1" <<endl; break;
case 'B"
cout << "section 2" <<endl; break; section 5
case 'C"
cout << "section 3" <<end|; break;
case 'D":
cout << "section 4" <<end|; break;
default:  cout << "section 5" <<endl;}
Question 3 This question is attributed with 5 marks, if answered properly.
The complete code for this question as the following:
#i ncl ude <i ostreane
usi ng namespace std;
int min ()
{
float fltNumber, avrPos, sunPos, sumNeg, avr Neg, count er Pos, count er Neg;
sunmPos = 0. 0;
sumNeg = 0. 0;
count er Pos =0;
counterNeg = O;
cout << "Enter nunber, -999 to exit";
cin >> fltNunber; (1 mark)
while (fltNunmber!=-999)
{
if (fltNunmber < 0)
{
count er Neg++;
sumNeg += flt Nunber;
}
el se
{
count er Pos++;
sunPos += flt Nunber;
} (2 marks)
cout << "Enter nunber, -999 to exit";
cin >> fltNunber;
}
if (counterNeg !=0)
{
avrNeg = sunmNeg / count er Neg;
cout << "the Average of entered negative nunbers =" << avrNeg << endl;
}
el se
cout << "No Entry with negative nunbers" << endl;
i f (counterPos !=0)
{ avr Pos = sunPos / count er Pos;
cout << "the Average of entered positive nunbers = << avrPos << endl;
}
el se
cout << "No Entry with positive nunmbers" << endl;
return O; (2 marks)



